
















2 3 4 5 1 

13 1214 11

17 16 15

21 22

18

13

14

19

9 

20

11

8 

11

7 

6 

8 

9 

1 

10

23 24

ROTOR AND TOOLS

Machine Type: TILLER

Model:

Document ID: 902874008

ZLL

Table: 05

Revision: 05

Group:

03/03/2019 ->_



Machine type: TILLER

Model: ZLL

Group: ROTOR AND TOOLS Table:

Reference P/N Description Quantity

05

Revision: 05

Document ID: 902874008

_03/03/2019 ->

Model #

1 4788744 Transmission side support seal 3

2 4141242 ZLL/SB/FLB external support lid 1

3 6560008 Type-A greaser UNI7663 M8x1.25 1

4 3625000010 Grower washer DIN1751 C70 Øi10 6

5 3414101010 UNI5587 M10 (coarse pitch) zinc plated nut 6

6 6310090 Elastic ring Ø90 UNI7437 DIN472 1

7 6320040 Elastic ring Ø40 UNI7435 DIN471 1

8 2106308 6308 bearing 2

9 4701202 ZLL/SB/FLB rotor support 2

10 3021110030 Screw UNI5739 8.8 M10x30 galvanised (coarse pitch) 6

11 6205572 Oil seal 55x72x10 PP DIN3760, AS type 2

12 4701203 ZLL/SB/FLB external side hub 1

13 3645200012 Schnorr washer Cl.10 Ø12 galvanized 12

14 3022112030 Screw UNI5739 10.9 M12x30 galvanised (coarse pitch 12

15 3131112035 Tines screw M12x35 8.8 fil.18 galvanised (fine pit 32ZLL/080•090 (4 zappe)

15 3131112035 Tines screw M12x35 8.8 fil.18 galvanised (fine pit 40ZLL/100•110 (4 zappe)

15 3131112035 Tines screw M12x35 8.8 fil.18 galvanised (fine pit 48ZLL/120•130 (4 zappe)

15 3131112035 Tines screw M12x35 8.8 fil.18 galvanised (fine pit 56ZLL/140•150 (4 zappe)

15 3131112035 Tines screw M12x35 8.8 fil.18 galvanised (fine pit 48ZLL/080•090 (6 zappe)

15 3131112035 Tines screw M12x35 8.8 fil.18 galvanised (fine pit 60ZLL/100•110 (6 zappe)

15 3131112035 Tines screw M12x35 8.8 fil.18 galvanised (fine pit 72ZLL/120•130 (6 zappe)

15 3131112035 Tines screw M12x35 8.8 fil.18 galvanised (fine pit 84ZLL/140•150 (6 zappe)

16 3635100012 Grower washer Fiat 10188 C70 Øi12 zinc plated 16ZLL/080•090 (4 zappe)

16 3635100012 Grower washer Fiat 10188 C70 Øi12 zinc plated 20ZLL/100•110 (4 zappe)

16 3635100012 Grower washer Fiat 10188 C70 Øi12 zinc plated 24ZLL/120•130 (4 zappe)

16 3635100012 Grower washer Fiat 10188 C70 Øi12 zinc plated 28ZLL/140•150 (4 zappe)

16 3635100012 Grower washer Fiat 10188 C70 Øi12 zinc plated 24ZLL/080•090 (6 zappe)

16 3635100012 Grower washer Fiat 10188 C70 Øi12 zinc plated 30ZLL/100•110 (6 zappe)

16 3635100012 Grower washer Fiat 10188 C70 Øi12 zinc plated 36ZLL/120•130 (6 zappe)

16 3635100012 Grower washer Fiat 10188 C70 Øi12 zinc plated 42ZLL/140•150 (6 zappe)

17 3414102012 UNI5587 M12x1,25 (fine pitch) zinc plated nut 32ZLL/080•090 (4 zappe)

17 3414102012 UNI5587 M12x1,25 (fine pitch) zinc plated nut 40ZLL/100•110 (4 zappe)

17 3414102012 UNI5587 M12x1,25 (fine pitch) zinc plated nut 48ZLL/120•130 (4 zappe)

17 3414102012 UNI5587 M12x1,25 (fine pitch) zinc plated nut 56ZLL/140•150 (4 zappe)

17 3414102012 UNI5587 M12x1,25 (fine pitch) zinc plated nut 48ZLL/080•090 (6 zappe)

17 3414102012 UNI5587 M12x1,25 (fine pitch) zinc plated nut 60ZLL/100•110 (6 zappe)

17 3414102012 UNI5587 M12x1,25 (fine pitch) zinc plated nut 72ZLL/120•130 (6 zappe)

17 3414102012 UNI5587 M12x1,25 (fine pitch) zinc plated nut 84ZLL/140•150 (6 zappe)

18 4011236 Rotor ZLL080 1ZLL/080

18 4011274 Rotor ZLL090 1ZLL/090

18 4011239 SB/ZLL120 rotor 1ZLL/120

18 4011240 SB/ZLL130 rotor 1ZLL/130

18 4011241 SB/ZLL140 rotor 1ZLL/140

18 4011242 ZLL150 rotor 1ZLL/150

18 4011237 SB/ZLL100 rotor 1ZLL/100

18 4011238 SB/ZLL110 rotor 1ZLL/110

19 4721201 ZLL/SB/FLB transmission side hub 1

20 3021110020 Screw UNI5739 8.8 M10x20 galvanised (coarse pitch) 6

21 4811286S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/080•090 (4 zappe)

21 4811286S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/100•110 (4 zappe)

21 4811286S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/120•130 (4 zappe)

21 4811286S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/140•150 (4 zappe)

21 4811286S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/080•090 (6 zappe)

21 4811286S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/100•110 (6 zappe)

21 4811286S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/120•130 (6 zappe)

21 4811286S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/140•150 (6 zappe)

22 4811285S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/080•090 (4 zappe)

22 4811285S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/100•110 (4 zappe)

22 4811285S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/120•130 (4 zappe)

22 4811285S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/140•150 (4 zappe)



Machine type: TILLER

Model: ZLL

Group: ROTOR AND TOOLS Table:

Reference P/N Description Quantity

05

Revision: 05

Document ID: 902874008

_03/03/2019 ->

Model #

22 4811285S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/080•090 (6 zappe)

22 4811285S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/100•110 (6 zappe)

22 4811285S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/120•130 (6 zappe)

22 4811285S FK/SB/ZLL curved hoe (6 hoes/flange, in 10x box) 1ZLL/140•150 (6 zappe)

23 4811284 SB/ZLL/ZLS squared hoe 8ZLL/080•090 (4 zappe)

23 4811284 SB/ZLL/ZLS squared hoe 10ZLL/100•110 (4 zappe)

23 4811284 SB/ZLL/ZLS squared hoe 12ZLL/120•130 (4 zappe)

23 4811284 SB/ZLL/ZLS squared hoe 14ZLL/140•150 (4 zappe)

23 4811284 SB/ZLL/ZLS squared hoe 12ZLL/080•090 (6 zappe)

23 4811284 SB/ZLL/ZLS squared hoe 15ZLL/100•110 (6 zappe)

23 4811284 SB/ZLL/ZLS squared hoe 18ZLL/120•130 (6 zappe)

23 4811284 SB/ZLL/ZLS squared hoe 21ZLL/140•150 (6 zappe)

24 4811283 SB/ZLL/ZLS squared hoe 8ZLL/080•090 (4 zappe)

24 4811283 SB/ZLL/ZLS squared hoe 10ZLL/100•110 (4 zappe)

24 4811283 SB/ZLL/ZLS squared hoe 12ZLL/120•130 (4 zappe)

24 4811283 SB/ZLL/ZLS squared hoe 14ZLL/140•150 (4 zappe)

24 4811283 SB/ZLL/ZLS squared hoe 12ZLL/080•090 (6 zappe)

24 4811283 SB/ZLL/ZLS squared hoe 15ZLL/100•110 (6 zappe)

24 4811283 SB/ZLL/ZLS squared hoe 18ZLL/120•130 (6 zappe)

24 4811283 SB/ZLL/ZLS squared hoe 21ZLL/140•150 (6 zappe)






